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M.Com., Sem.-111
503 : Management Control System

(1) Al guestions are compulsory.
(2)  Figures to the nght indicate marks allotted to each question.

Explain the sub-systems of Informal Control System.
OR

How is management control system an interactive contral system ?

State difference between “(any two)

(i) Management control process and other cofitrol process.
(i1)  Strategy formulation and management control system.
(iii) Task control and management control system.

Answer in one-two lines :
(i) What arc rules ?
(ii) What is a responsibility centre ?

(iii) Sute the essentials of a good management control system.

Explain thc impact of Information Technology on control system.
OR

Explain the issues in designing management control system.

Answer briefly : (any two)

m State the characteristics of cybemetic synm

(i) State the factors in
@ State the applications (uses) of cybemetics.

Answer in one-two lines only :
@ What is belnwourll choice ?

fluencing the design of management control system.

jvax. Marks : 70
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3. (a) Explain the framework for designing performance measuleM M yyy 7
OR

How does management style affect management control syst€™”?

(b) Answer briefly : (any two)
(1) State the charactenstics of interactive control.
(11)  What is a leaming organization ?
(ii1) What are critical (key) success factors ?
(€)  Answer in one-two lines only :
(1)  What is organizational culture
(i1)  What is organizational climate ?
(m) What are strategic uncertaintics ?

4.  (a) Explain the issues in professional service organisations. 7
OR
Explain management control system for non-profit organisations.
4

(b) Answer briefly : (any two)
(i) Why is there a need for control in the financial sector ?

(i11)) Stale some transfer pricing methods used by multinational corporations.
(1i1) State the types of exchange rate exposures which multi-national corporations

face.

(c) Answer in ome-two lines only : 3
(i) Whatis Tariff ?
(ii) ~ What is Transfer Pricing ?
(iii) Define Non-profit Organisation.
14

5.  Select the right option :
is a contributed capital which includes contribution of funds lo sequire

(1)
asscts.
(a) Plant (b) Endowment
(c) Plant and Endowment  (d) None of the above
6
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‘2)

(3)

(4)

(5)

(6)

(7)

r;m\ onsists of gifts whose donor's intend that the prncipal amount will

Magt indefinitely.
‘ﬂ] Plh
(c) t (b) Endowment
Phﬂl and Endowment (d) None of the above

T Organisations arc governed by the Board of Trustees.
(@) Profitable . (b) Non-profitable
() Government (d) All of the above
iy effects are best handled by the Head Office of the multinational
Comporation
(@)  Transaction (b) Translation
(€)  Economic (d) All of the above

is an example of low-context culture while 1s an example of
high-context culture,
(a) Germany, China (b) China, Germany
(c) Japan, Germany (d) (Germany, Switzerland

1s an cxample of highly masculine culture, is an example of
highly feminine culture.
(a) Switzerland, Netherland
(b) Netherland. Switzerland
(¢) North America, Japan
(d) Japan, North America

is an example of individualistic culture while is an cxample of
collective culture.
(8 America, Saudi Arabia  (b) Saudi Arabia, America
(¢) America, Australia (d) Australia, America

o is an example of highest uncertainty avoidance culture while

is an example of lowest uncertainty avoidance culture.

3) Japan, Singapore (b) Singapore. Japan
() Japan, Greece (d) Greece, Japan
7



(9) ____isanexample of physical control.
(a) Computer password
(b) Counting cash
() Computer password and counting cash
(d) None of the above

(10) __is an organizational unit il which both revenue and expense are
measured in monetary terms.

(a) Expense centre ' (b) Revenue centre
(c) Profit centre (d) All of the above



